Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D030

Base Plate | Bsp/FBP

M6/INCH

M6/INCH type parts can mount to M6 or 1/4-20 holes on standard hole spacing.

® M16P1 tapped holes fit a post holder or post. Other
tapped holes on the top surface allow for different sized
stages to be secured.

® 7 mm slotted bases can be use on both metric and inch
hole patterns.

® The base clamp (BSC-60) allows a base plate to be
secured at an arbitrary position where there is no

tapped hole.
2D||SD
CAD||CAD
Outline Drawing
BSP-2460 BSP-40100
B Hexagonal socket headcap screw M6x18...2 screws B Hexagonal socket headcap screw M6x14...2 screws
Flat washer Flat washer

24

10

BSP-70120 BSP-70170
E Hexagonal socket headcap screw M6x14...6 screws E Hexagonal socket headcap screw M6x14...6 screws
Flat washer Flat washer
120
z 2-M4
82 S 7
25 25
b+o o o |4 = =
Q =3 0 l/
o o |:h‘\¢ 6 C\ & ¢‘.r:|,\ = EE
n
Bl -4
—E;ﬁ o\ \oed=- H &
[ o L] L
8-M4 4-M3 PCD¢42 8-M4 4-M3 PCDg42
4-M4 M16 P1 4-M4 M16 P1
BSPS-246010 BSPS-4010010
ﬂ Hexagon socket head cap screw B Hexagon socket head cap screw
(stainless steel construction) M6x18...2 screws, Flat washer (stainless steel construction) M6x18...2 screws, Flat washer
100
47
60 32
35 10
20
20 10
©
s - °
< © /ﬂ \ fg - ol o o D f \ C
| ™~ k N < o S~ ) \ N
S 1 e
P i
4-M2 M16 P1
4-M3 depth 6 M16 P1
4-M2 depth 5
Primary material: Aluminum Primary material: Stainless Steel
Mé Finish: Black Anodized Mé Finish: None
Weight Weight
Part Number Part Number
[kg] [ka]
LBSP24600 0027 |BSPS:246010, o078
~Bsp-40100 |/ oo BSPS-4010010 0.26
Bspron20 L
BSP-70170 0.18

www.hours-web.com


https://pan.baidu.com/s/185Kcb_GFgHxYQd0IHk40ow

Primary material: Aluminum
M6/INCH Finish: Black Anodized
Part Number Wi'ght S
[kal Application
FBPSOLU. 08 Systems
FBP-65UU 0.03 .
Optics &
BSP-65EE 0.03 Optical
FBP-75WUU 0.05 Coatings
BSP-8SEE | 006
BSP-85UU 0.06 I\Onpto'; .
BSP20eE | o8 e et
BSP-120UU 0.13
CAD||CAD
[l Bases
e Drawi
FBP-50UU/65UU BSP-65EE FBP-75WUU sAriEl
Stages
E Hexagonal socket headcap screw M6x8, M6x18...1 pieces each (EC) E Hexagonal socket headcap screw M6x15...2 screws (EC) E Hexagonal socket headcap screw M6x8, M6x18...1 pieces each (EC)
Hexagonal socket headcap screw Hexagonal socket headcap screw Hexagonal socket headcap screw
1/4-20UNCx5/16, 1/4-20UNCx3/4...1 pieces each (US) 1/4-20UNCx5/8...2 screws (US) 1/4-20UNCx5/16, 1/4-20UNCx3/4...1 pieces each (US)
Hexagon socket head cap screw Hexagon socket head cap screw Actuators &
(stainless steel construction) 1/4-20UNCx5/16...1 pieces each (US) (stainless steel construction) 1/4-20UNCx5/16...1 pieces each (US) Adjusters
65
A 75
20 B 50 40 ‘
20 7 Motoeized
Stages
== T — © C_JE:
D e ~| o © -
| - - rJ / )« Light Sources &
o7 Part Number | "0\ | (o) kS LS L o7 Laser Safety
] FBP-50UU | 50 | 17.5 M4 4-M2 depth 4 P
1 T % } 9[ FBP-65UU | 65 | 325 i f ) \ 9—[
. Index
fail 011
BSP-85EE/85UU BSP-120EE/120UU
E Hexagonal socket headcap screw M6x15...2 screws (85EE) E Hexagonal socket headcap screw M6x15...2 screws (120EE)
Hexagonal socket headcap screw 1/4-20UNCx5/8...2 screws (85UU) Hexagonal socket headcap screw 1/4-20UNCx5/8...2 screws (120UU) Guide
120
75 7 Vibration
85 A A Isolation Systems
50 7 - q
A Optical Tables
— . ——D>0 o oC—_—
¢ o Darkrooms/
hd Dark Boxes
<
Yo 6 N < g ] — | - Optical Bases
) D0 C ¥ ] < | @ e} @ 4 ~ p
<$ {¥ ¢ < Posts
B 8-C |
——0 q © d:— O Brackets
9B Adapters
Part Number R B C Part Number R B
(mm) (mm) Tools
BSP-85EE 32 M6 P1 M3 BSP-120EE 25 M6 P1
BSP-85UU 31.75 | 1/4-20UNC | 6-32UNC BSP-120UU 25.4 1/4-20UNC

Designed to mount optical units on optical Specifications Primary material: Aluminum
baseplates (OBB) with M2 tapped holes. -
P ( ) PP Part Number V\I[Ie('g]ht

ll Guide

P Optical baseplates (OBB) with M2 tapped holes are also available.

Outline Drawing

BSP-24 Elaa? S/Ziﬂesrcrew M2x8...2 sorews BSP-39 [ Pan head screw M2x6...1 screw BSP-50 fﬂznngég:g:x/s 2D|(8D
50 CAD|(CAD
39 40
24
M4 depth 5 7 10 15 7 30
18 ° _10,_10_
o o~
Y ; [SURS
& ;x:—: = - p = =96 o o
— * =N ‘
M4 depth 5 Q) lL L & o .‘EI
o
= e

ﬂ%

8-M2 depth 4
M4 depth 5

HO“RS D031

I —
www.hours-web.com



https://pan.baidu.com/s/185Kcb_GFgHxYQd0IHk40ow
https://pan.baidu.com/s/1HrytiO0DCpnvJfbeYiLxCQ



